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3. Show that any third-degree polynomial, f(x) = ax® + bx*> +cx +d , always has

exactly one point of inflection. : 7\6( + 0 ‘9’3 { { ) '4—';«»-\
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4. Find the vertical asymptotes and the slant asymptotes for the following functi}s/' 35
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Axt(x-3) - L(3x)

5. Sketch the graph of each of the following functions by finding the critical points,
intervals of increasing and decreasing, inflection points, intervals of concave up and
concave down, asymptotes and intercepts.

> _6x* -18x+6

/\y(k) ,’(ox"-—"l)("}& =0
b(x*~tx %)
(e-5) Cxe) =0
v = to< / ? =k

‘ A g A
X =1 JRLudhon = e \
er —

g ol 7 ' (\) G MIEH—EJ) = )Y
Q—%"% JJE(—«) 1l L

o) ~(xr1X-2) lex. =0

9 - x? (C';'VzXé 3

= (a-»")" " (a-x ) fehe
Y-z (31)0) b <)
9w (0, ) s st

LT :
T S -3 i : 5
\ N L = "'\ i
H_ﬁ‘ i J__________——-—-"" - (‘(’xl)l([\’) IS ’L’y(})(q-—ki-) (‘2)‘-)
, O{ﬂé?'r e | C'].—;(L) ¥
= J!p(ct ~>1)E@(q->&)+ ﬂk”] (&@7“? #3541);&
qux’)zf = (Q"XL)E’ 2

L,:_\i/lﬁd‘\“-@@"jj s ¥ £3
Lo o

& |
—3 3




